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O Vi-V3-v2=1+2
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® 2v2+ VI8 - V50 = -2V30
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7e?
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o] 71017} 2091 AN A 7z A= o] Zol2
A= 87 ARG 2] Wo )

@ 4x* +7Tx+12

@ 4x® +Tx+7
® 4x% + 14x + 12 @ 242 + Tx + 12

® 2x% 4+ 14x+ 12

=

7V 7Y

=

3, 4
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Va2 +4a + 4 - Va? - 4a + 4 & 1FH9]
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D a<-2 @ a>2
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@ x-2 @ x+2 Q —-x+2
@ —x-2 ® x-1
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® x-2 @ x+y

@ x+y+2 ® x-y+2



17. n=93 4 W, V2 + 14n + 49 9] 327

D 100 @ 107 ® 142 @ 158 ® 170
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© (v2)"+ (1)’ @ (-v2)*+ VI
® /(-2 + Vi @ V22 4 V12
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X2+7x-8

DO (x+8)(x-1)

=x2-9x+14

@ (x=2)(x-7)
® (x+3)(x-4)

2 +x-12



20. (a+b+c)*S H7Hotd?

D a®+b* + ¢

@ a? 4 b*+c? 4 ab + bc + ca
® a?+b*+c+a+btc
@ a® +b>+c?+2a+2b+2c

® a? 4+ b% 4 2 + 2ab + 2bc + 2ca
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® 18 @ 19 @ 20 @ 21



22, xy=50°]2, Xy +x? +2(x+y) =42 & o, x2 +y? O] 327

® 10 @ 15 ® 20 @ 26 ® 28



23. the HIo|H £ YL AL BE T2

A x 7} ¥ a O AlFTOIH, a = £ /xolth
© x 7FAFE 9 o] x = 30|t}
© 7.5 9 AlFE2 EAoHA] E=rt.

© -7 o Agee - ol

ORON®) @ 0O, 6 ® 9,6,
@ 9,060 ® 0,6,



24.
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+ 0 1 2

1 1,000 | 1,005 1,010
2 1,414 1.418 1,421
3 1,732 1,735 1,738
4 2 2,002 | 2.005
) 2,236 | 2,238 | 2,241




